L nplicct Dilhenda Bo
- MpULT 77%@ 7
it g flool i s then o %W oy pou
A O ﬁ%wm fo Peo yauadloc

‘ %Hd 68/?;)”,'% 11 an %/ihi-%;% (j "t’/

'E)/th/y& / ,,,/ /02 o urﬁé M/}% /%J&/ y=54 _

)CZféf:agy ( va:r)

0?}(+£j"’l): 9,
aa ——*2;

S
(7 Y




X . (73= /(F*){o? (q)(ﬂhm Q,/»Ezo&‘dawéﬁ/ Hieo o
‘/ﬁ( /éww /vwﬂﬁaz«_ :9(/
~am %u [,w;/IMM
74/-44.(9/0% g*

g 1+ L) | )
£ 50 9 /a’(/)(j ¢ Iy
-—I&a’w&za’ = Iy - 3.2

) 8 i
2 Lév )&) ¥ )d;b ”Bxgl

y = Iy et

567’ - I




EdAmptc 5 F., 0/% _\

'
e

9 O ey L o) vy
. J\ng\a

('7(}?} -

2 X ( FI L ) :
9 Ay g ‘[*”a’*;%]

/x(m L -
J a?; L1y
A (Hen)E o
9 -y - 2y

"—HZX "_Z)(

a’ ) 029 = 2 x (M&)L

/X

L) Ly (ry) g4 "
o o ~ ~l+y)




Example 4 Fd g

At a £ 797 30 = ¢
Ax + 9(71 an)-f J’m’-—g) -0
1wy thyy “8-di-by
3](‘7“&’(7) 8-+,

A S-Ax=ty 94443
7+ +‘F;’ T ’.23;

‘__-“\

N = s
i —“——&RJ (7
) [

3 r e {/'(A/(/I/L a—‘/éh'ﬁ'—} ne 2

S/‘ M-g\

3




